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= B —g2s |TROFLE| ERT—L | ABBEH | s =
I EEDE
1 RBEE
HEHEE 6,104,403 0| 6,104,403 o] 6,104,403
RINE 0 0 0 0 0 0
MENEESE 6,104,403 0 0| 6,104,403 ol 6,104,403
2 EAEEE
(1) BEAREAE
EHES 20,000,000 0 0| 20,000,000 ol 20,000,000
EXGESE 20,000,000 0 0| 20,000,000 ol 20,000,000
(2) FEEE
AR—YREES I HTEE 30,045,274 0 0| 30,045,274 o] 30,045,274
BHEEESH 30,045,274 0 0| 30,045,274 ol 30045274
) TDMEFEE E
HlEKRE 151,896 0 0 151,896 0 151,896
ZTOMEEEESE 151,896 0 0 151,896 0 151,896
EE&EES 50,197,170 0 0| 50,197,170 ol 50,197,170
BEAG 56,301,573 0 0| 56,301,573 ol 56,301,573
I BEDE
1 REafk
FEY® 397,028 0 0 397,028 0 397,028
KihE 0 0 0 0 0 0
nEAESE 397,028 0 0 397,028 0 397,028
2 EEAER
HEAR 30,045,274 0 0| 30,045,274 ol 30045274
El=lia=ri} 30,045,274 0 0| 30,045,274 ol 30045274
aEaEt 30,442,302 0 0| 30,442,302 ol 30442302
Il IERREAEEDER
1 {5 IERKBAEE
{EEIERRETEE B E 0 0 0 0 0 0
2 —ARIERREAZE
— AR ERBIE ST 25,859,271 0 0| 25,859,271 o] 25,859,271
IERBIESETEE 25,859,271 0 0| 25,859,271 ol 25859271
BERVIEKMESST 56,301,573 0 0| 56,301,573 ol 56,301,573
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= =] HEE BIEE R
I BEEDER
1 REVEE
ReHEd 6,104,403 3,761,529 2,342,874
REBEESRE 6,104,403 3,761,529 2,342,874
2 BIEEE
(1) BEAREAE
EHFES 20,000,000 20,000,000 0
EARMESS 20,000,000 20,000,000 0
(2 BEEE
AR—YREEGIHTEE 30,045,274 33,840,351 A 3,795,077
HEEESE 30,045,274 33,840,351 A 3,795,077
Q) ZDMEEEE
HEWRE 151,896 220,939 A 69,043
ZTOMEEEES 151,896 220,939 A 69,043
BEE&EEAG 50,197,170 54,061,290 A 3,864,120
BEEAE 56,301,573 57,822,819 A 1,521,246
I 8EOH
1 REEE
(1) FEYE
HEYE 397,028 1,091,327 A 694,299
nEBAEESE 397,028 1,091,327 A 694,299
2 EEEE
(1) HE&AE
AR—YREEGI HE 30,045,274 33,840,351 A 3,795,077
BEERESE 30,045,274 33,840,351 A 3,795,077
aEAas 30,442,302 34,931,678 A 4,489,376
Il 1ERKREAFE DED
1 ¥EE IERRBAEE
IEEERMESS 0 0 0
2 —fRIERRELE
—RRIERRBIE S 25,859,271 22,891,141 2,968,130
IERBIE SRS 25,859,271 22,891,141 2,968,130
BERVIEKBMESE 56,301,573 57,822,819 A 1,521,246
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& = LEE BIEE R
I BEEDE
1 RBEE
HEHEE 1,313,330 A 1,313,330
KINE 407,625 A 407,625
RENEESE 1,720,955 A 1,720,955
2 EEEE
(1) EAREAE
EHHES
EXBESE
(2) BEEE
AR—YRES I LTES 0
HEEESE 0
(3) T DEE & &
BHEEHRE 0 0 0
ZTOMEEEES 0 0 0
BEE&EEA 0 0 0
BEAG 0 1,720,955 A 1,720,955
I &EOER
1 RBIAE
OF::Uk
EYE 0 0 0
(2) Rih&
xihE 194,250 A 194,250
REAaGEaeE 194,250 A 194,250
2 BEEE
(1) HEaE
AR—YREES L& 0 0 0
BEEEEE 0 0
8BS 194,250 A 194,250
I IERREAEEDER
1 $5E IEKBAE
{EEIERRETEE A ET 0 0 0
2 —HRIEBREFE
— AR IERKBABE & 5T 1,526,705 A 1,526,705
IERRBAEE & ETER 1,526,705 A 1,526,705
BERVEKRMESST 1,720,955 A 1,720,955
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